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001. Why doesn’t Tom need any help? ¢ )
A. Because he thinks it is not bad. B. Because he wants to do it himself.
C. Because he is clever.
002. Why will Bob be late for the party? ( )

A. B.

003. Why did George go to see the doctor? ( )
A. Because he has had a bad cold.
B. Because there was nothing wrong with him.
C. Because the doctor was his friend.

004. Why doesn’t the woman want to learn English? ( )



00s.

006.

007.

008.

009.

010.

011.

012.

013.

014.

015.

A. Because she is ill.
C. Because she will give it up.

Why does the man look smart?

B. Because English is difficult for her.

A. Because the colour of his T-shirt matches well with that of his trousers.

B. Because he wears new clothes.

C. Because his white T-shirt matches well with his red trousers.

Why can’t Nancy go to a movie?

A. She has to babysit her sister.

C. She has a piano lesson.

Why was Frank on the news last night?
A. He walked along the beach at night.

B. He swam alone in the cold water.

B.

C. He got the boy out of water and saved him.

Why did Tom get up early this morning?
A. To do sports.

C. To walk the dog.

Why did the man come to the shop?

A. To repair his telephone.

C. To exchange the telephone.

Why would the man like no more cakes?
A. Because he is full.

C. Because he wants to eat some bread.
Why can’t the man go to the birthday party?
A. Because he is ill.

C. Because he will go to Shanghai.
Why is Wang Dong getting so fat?

A. He likes sugar and meat very much.
C. He never goes to work on foot.

Why doesn’t the girl want to eat?

A. She is angry.

C. She has a stomachache.

Why didn’t the girl go to school?

A. She was ill.

C. She got to school early.

Why was Tom late for class?

B.

6
(
She has too much homework.
(
(
To catch an early train.
(
. To buy a telephone.
4
. Because he doesn’t like cakes.
(
. Because he is busy.
(
. He doesn’t often take exercise.
&
. She is not hungry.
4
. She was absent.
(
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016. Why was Nancy late? ( )
A. The bus was late. B. She forgot her class.
C. She got up later than usual.

017. Why did Andy’s mother stop him going over to Billy’s house? ( )
A. Because he didn’t clean his room. B. Because he didn’t wait a minute.
C. Because he will leave later.

018. Why did Helen come to the man’s house? ¢ )
A. To ask for help. B. To say “hello”. C. To visit her friend.

019. Why does the man say sorry? ( )
A. Because he speaks too slowly. B. Because he speaks too fast.
C. Because he can’t speak clearly.

020. Why does Henry like music? ( )
A. Because it’s useful. B. Because it’s interesting.
C. Because it’s difficult.

021. Why didn’t the woman see the man? " g )
A. Because the man came late. , B. Because the woman came late.
C. Because the man didn’t come.
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022. Where did the woman go last summer? ( )

A. B.

023. Where is Tom from? ( )

A. Tom is from America. B. Tom is from Canada.

C. Tom is from England.
024. Where are they talking? ( )
A. In a restaurant. B. In a shop.

C. In a classroom.

025. Where may the conversation take place? ( )
A. In a restaurant. B. In a hospital. C. In a cinema.

026. Where does this conversation probably take place? ( )
A. In a hospital. B. In the street. C. On a bus.

027. Which country has Diana been to? ( )
A. England. B. The United States.

C. Australia.



028.

029.

030.

031.

032.

033.

034.

035.

036.

037.

038.

039.

040.

041.

042.

Where is the woman going?
A. To a post office. B.

C. To a supermarket.

To a hospital.

Where does Mary want to go this summer vacation?

Where can the woman find the chemistry books?
A. On the first floor. B.
C. On the third floor.

Where did they have their dinner?

A. At the man’s home. B.
C. In a restaurant.

On the second floor!

At the woman’s home.

Where do you think the man and the woman are talking now?

A. In the supermarket. B.
C. In the cinema.

Where are they talking?

A. In a restaurant. B. At home.
Where are the speakers?

A. In a restaurant. B. In a post office.
Where are they probably talking now?

A. In the office. B.
C. On the road.

Where are the two speakers?

A. At home. B. At a food shop.
Where will the beach party be?
A. By the trees. B. By the boats.

Where does this dialogue probably take place?
A. In a clothes shop. B. In a restaurant.
Where’s the man going?

A. To the bank. B.
C. To the cinema.

Where are the woman and the man?

A. In a factory. B. On a farm.
Where do the elephants come from?

A. Africa. B. Asia.

Where are the two speakers now?

A. At a concert. B. At a cinema.

In the classroom.

C. In the street.

C. In an electrical shop.

On the playground.

C. At the office.

C. At the coffee shop.

C. In a tea house.

To the post office.

C. In a shop.

C. America.

C. At a party.

(

(

(

(
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043.

044.

045.

046.

047.

048.

049.

050.

051.

052.

053.

054.

Where are they probably going?

A.

Where did Cathy spend her weekend?
A. In a park.
A. In a school library. B. In a hospital.
Which is the way to the supermarket?

A, B.

Where is Susan?

A. At home. B. At school.
Where are the two speakers?
A. In a restaurant. B. On a farm.
Where was Timmy when the earthquake happened?
A. In a restaurant. B. In a hospital.

Where are the two speakers talking now?

B. At school. C. At home.
Where does the conversation most probably take place?

A. B.

Bookstore POST OFFICE

7 | 4

Which city will Judy probably visit?

A. Sydney. B. New York.
Where are they?

A. At the library.

Where was Helen yesterday?

B. At the bus stop.

Where is the man’s watch?

( )

( )

( )
C. In a shopping mall.

( )

( )
C. In the theatre.

( )
C. In an office.

( )
C. In a dark place.

( )
C.

Py ‘.I.IBRIII o
L) B B
E

( )
C. Beijing.

( )
C. At the zoo.

( )

( )




A. On the bedside table. B. On the desk. C. In the bag.

055. Where does the dialogue most probably take place? ( )
A. At a bus stop. B. In a theatre. C. At a bank.

056. Where does the dialogue take place? ( )
A. At a station. B. At an airport. C. At a bus stop.

057. Where is the woman going to spend her summer holiday? ( )
A. Hainan. B. Tianjing. C. Beijing.

058. Where did Cathy go last Saturday? ( )
A. To the lake. B. To the beach. C. To the park.

059. Where are they talking now? ( )
A. In a hospital. B. At school. C. At home.

060. Where is Kate now? ( )
A. At a post office. B. At a bus stop.
C. At a railway station. :

061. Which place are they talking about? ( )
A. B. Ci

062. Where may the dialogue take place? ( )
A. At home. B. In a classroom.
C. In a library.

063. Where are they talking? ( )
A. In the classroom. B. At the girl’s home.
C. On the phone.

064. Where’s Mary from? ( )
A. The United States. B. Canada.
C. The UK.
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065. What does the boy want to be in the future? ( D]
A. A pilot. B. A teacher. C. An engineer.

066. What does the woman’s father do? ( )
A. He is a policeman. B. He likes playing football.

C. He drives to work every day.
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067. What is Lucy going to be when she grows up?

=

068. What’s the man’s sister?

A.

s 3=

069. What does the man most probably do?

A. A waiter.

B. A salesman.

070. What does the girl want to be when she grows up?

C. A doctor.

C. A student.

C. A nurse.

A. B.
071. What is Jack’s sister?
A. A nurse. B. A teacher.
072. What does Alice do?
A. A doctor. B. A teacher.
073. What does the man do?
A. A farmer. B. A doctor. C. A teacher.
074. What is Daniel’s aunt?

075. What is the boy going to be in ten years?




A. B.

077. What is Mike going to be when he grows up? ( )
A. B. C.

078. What is Miss Brown? ( )
A. A student. B. A teacher. C. A doctor.

079. What is John’s father? ( )
A. B.

080. What does the man probably do? | ( )
A. A driver. B. An actor. ° C. A waiter.

081. What does the boy’s aunt do? ( )
A. B. C.

082. What’s Betty? : ( )
A. A student. B. An English teacher. C. A bird.
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083. What is the man going to do tomorrow?
A. He is going to play basketball.

C. He is going to have a swim tomorrow.

084. What did Walter do yesterday?

08s.

086.

087. What is Mr. White doing now?

088. What is Tim going to do this weekend?
A. To go shopping.
C. To go skating.

089. What is the boy going to buy?
A. Some juice.

090. What does the man want to do?
A. Climb hills.

091. What are Mary and John going to do?
A. To get two tickets for the film.
C. To make a film.

B. Some oranges.

B. Go fishing.

¢
B. He is going to watch TV tomorrow.

(
(
B. To do some cleaning.

(
C. Some apples.

(
C. Go shopping.

(.

B. To see an American film.

D



092.

093.

094.

095.

096.

097.

098.

099.

100.

101.

What is David going to do?

A. To catch a train home. B. To do his homework.
C. To go to a park.

What does the boy spend much time doing after school?

B.

What are they going to do?

A. To drink a cup of milk. B. To cook at home.

C. To have a meal in a restaurant.

What is Lin Tao going to do this weekend?

A. To do the housework. B. To get ready for the exam.
C. To go to the party.

What does the woman want the man to do?

A. B. C.

What are they going to do this afternoon?

A. To see a movie. B. To watch a match. C. To buy books.

What are they going to do?

A. B. c
}kg\

What is the man going to do?

A. To run to the airport. B. To wait for another bus.

C. To hurry to catch the next bus.

What are they going to do if the weather is fine next Sunday?

A. They will climb the hill. B. They will stay at home.
C. They will plant trees on the hill.

What will the woman probably do tonight?

A. She will go to the concert.

B. She will watch the opera in the theatre.

C. She will watch TV at home.
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